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govt. exa BY ADITYA RANJAN SIR

1. What annual payment will
discharge a debt of T 808
dues In 2 years at 2% simple

interest.

2 HTT H 2% Ufd 99 &t 2T 9
T 808 @& FWUT okl aATlbeh WITATA

AT i ?

\(af 2400 (b) T 350
(c) Z200 (d) T 300

X4
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OMF MATHSE)I: or all govt. ex: By ADITYA RANJAN SIR

j @ 1. What annual payment will

— discharge a debt of T 808
;

dues in 2 years at 2% simple
interest.

2 T | 2% Ufd a9 &t 3T |
T 808 @& FWUT okl aATlbeh WITATA

A & ?
\(af 2400 (b) T 350
(c) Z200 (d) T 300
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OMF MATHSE)I: or all govt. ex: By ADITYA RANJAN SIR

0
\\j \,%5 2. What annual payment will
~ (Lo discharge a debt of ¥ 10750
~ dues in 4 years at 5% simple
NS Interest.
103SH %o 5% WTLUT &< aht aT |, 4
%ﬁ ag # T 10,750 @t THT 29

g dr arftes farea s gi?
(a) T 2000 (b) T 2800

\(syZ2500  (d) T 2400
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OMF MATHSE)I: or all govt. ex: By ADITYA RANJAN SIR

|00
0%

3. What annual installment will
discharge a debt of < 1740
due in 5 years at 8% simple

| ‘5 interest.
—/%-D;X'G" P @ adF  wa

T 1740 & HUT I 8%
ar Yeh ATYRUT &gTa] I X
d 5 dul # ST Y aN?

(a) T 360 (b) T 340

() T200  \(gf T 300
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OMF MATHSE)I: or all govt. ex: By ADITYA RANJAN SIR

T=Q Hay Yean (100) X20
7 (1O 4. What half yearly payment
R 10 will discharge a debt of
% 4200 in one year at 20 %
20 per annum simple interest?

4200 (o0 -4t BuTEr fwva T 4200
ey & BUT &l 1 a9 H 20% Wid
a4 & TYURUT &S 9 Tehl

37012

(a) T 3600 (b) T 2200
\c)/?zooo (d) T 2100

Download RG VIKRAMJEET application for complete course.













OMF MATHSE)I: or all govt. ex: By ADITYA RANJAN SIR

5. What quarterly payment
will dischar'ge a debt of
< 2120 in one year at 16%
per annum simple interest?

Bpla-dr  fTaAmE hd
T 2120 & HOT &r 1 dy
H 16% UTddy o HATUROT
&m\ﬂ'ggﬁm?

(a) ¥ 510 (b) X 450

S (¢) T470 (d) T 500
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OMF MATHSE)I: or all govt. ex: By ADITYA RANJAN SIR

6. What five monthly payment
will discharge a debt of

94500 w@ at 12 %
per annum simple interest?

R7. XEmem | Plg-d  s5-AE B
JIL T 94500 & HOT A 1, a¥

300 H 12% Ufaay & FTUROT
cmdgﬂmm?

(a) T 30000 (b) Z 31000
(c) T20000 (d) ¥ 33000
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govt. exa BY ADITYA RANJAN SIR

s payable after 3 years. If it is to be

paid in 3 installments each year. First

. .1 1
installments is 5 of the second and n of the

XY third installment. Find each installment if
rate of interest is 10% per annum.

T 3400 3 O & @I ¢ & | afg ar
3 P&l A IHET el & | ATH

1
Ugell &Fd GO HET BT -~ AT

3
SIE:RY mm%%r—ﬁzﬁa‘r e
A, TG <1 X 10% © |

\(/400,1200,1600 (b) 300,900,1200
(c) 100,300,400 (d) 240,720,960
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or all govt. exz BY ADITYA RANJAN SIR

8. T X is payable after 4 years. If it is to be
paid in 4 installments each year. The ratio

S60 of installments are 1 : 2 : 3 : 5. Find the
33 O value of X if First installment is of nd

Q Y () o rate of interest is 10% per annum.

- I X, 4 91 & &g 39 81 afg 9 =W
~3 L frmt ® S wEar & arfe |t

frpai T U 1 : 2 : 3 : 5 &, a@f
X @1 O &ard afe uger fava T 50
i & T = &1 T 10% &)

(a) 600 (b) 1100
(c) 200 (d) 900
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OMF MATHSE)I: or all govt. ex: By ADITYA RANJAN SIR

&0 079‘0 —_\. 9. Amount of T 25,600 is to be paid in three
% years and three annual installments. If

10/ > amount of 15t installment is half of the

> SQy)  -amount of 2 and 3 rd of the 3rd. If the rate

Q ~. - of simple interest i3s 10% p.a. Find amount
<Y > \GQ O M of 1st installment?

840 | ¥ 20000 & wer o v i wet A

§Sj ST BT &) I Ugell &, qEU  HAT hY

‘i@qml% ma‘maﬁwﬁaﬁrgtammmm
¢ T 2T 10% arT9h & dd Ugell BT &y T LA
JATd B
(a) Z8,000 (b) ¥ 6,000
(c)Z 4,000 (d) 10,000
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govt. exa BY ADITYA RANJAN SIR

10.A took a loan from B of X 480 at 6% simple
interest on a condition that he would pay it in

4 yearly installments. Out of which first 3

@ installment would be - of the principal and

4
the rest amount would be paid in last

installment. Find the amount paid by A in the
last installment.

‘AAT 480 B T 6% ITYNUT &qTA U THh

@ M?Fﬁww W.Cﬁd$3ﬁ4dlé¢ GRr |

A gHean| A d Ugell 3 HEd JAYA
1
4

. @ — gt 3R A T U I oHEE dfaA

_ &BFd A HA Fm HAA FET H A
CART ITATA &Y IS I LA BT TAT T

\(a)% 192.0 (b)Z 165.7
(c) T 127.2 (d)Z 263.4
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OMF MATHSE)I: or all govt. ex: By ADITYA RANJAN SIR

Y=10 11.A sum of X 10 is lent to be
A=l Mo+ returned in 11 equal _monthly

Si-= 1"’\9 %‘JM}M\ installments of ¥ 1. What is the

rate of simple interest per
annum?

T10 Fr A dr T 1 hr 11
HTHP HWE H qha &
T 3R f&ar = ararRon
smdﬁamaﬁ|

(a) 9 % (b) 10%

(c) 1% 212> %
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OMF MATHSE)I: or all govt. ex: By ADITYA RANJAN SIR

.(H-H&f- —— 'H')'X"'@ 12. Ajay lend T 19 to Atul on condition
- that the amount is payable in 20

S _‘_Q,IBO months by 20 equal installments of T 1
t) 19 X Qe X'YX@ = (8O wh. What is the rate of
-l G simple interest?
9Sx~r _ 3o, IHdA A T 19 3H AT W
6 I AR ST & & U 20 #Aga &
T gag 20 SR HAl @rr T 1 ufd
% H@?zﬁraﬁﬁmcﬂ@md
& a1 9 &Y ATd P

@ 11;%  \of 6%
(c) 30% (d) 10%
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OMF MATHSE)I: or all govt. ex: By ADITYA RANJAN SIR

P 13. T 2070 is to be paid if{(10)

A= a0 | monthly installment. Find

51-= rate of interest if each
' installment is of ¥ 230.

i Rar T U_d  BEd
L= \“?x\ 33{3?&? A, a & X
Iy T (a) 2—0% (b) 8—3 %
(c) 18 % (d) 57%

@0. ~ -2%0 X 2070 349~ T IT| 10
(B4~ f6l°~—zﬁrmﬁw
D
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OMF MATHSE)I: or all govt. ex: By ADITYA RANJAN SIR

P m =~ 2000 = . 14.The market price of refrigerator is
~ {1000 T 10000. If it is available on a cash
: down payment of ¥ 2000 and 9
L=1000 monthly installment of ¥ 1000
each. Find the rate of instaliment.

AR _\m -‘6‘00
B * @] . Th W W HHd FHed
p\(BYT X 10000 & I& T 2000 Fma q
" :) 9 A &r T 1000 HT FHWI W
lam: UItd @M dl arysh i hl

(8¢
~onﬂm+__ )‘”I! o S

) m__ Ny (a) 30.33% (b) 30%

[ \'\’z(c) 32.33% (d) 33.33%
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OMF MATHSE)I: or all govt. ex: By ADITYA RANJAN SIR

SI="P TS%K—T— 15. If the price of an article is ¥ 9000, If this
article is purchased on the cash down

D R0Y= Feooux VX | payment of ¥ 2200 and rest can be paid
180 X 12 in five equal monthly installment of ¥

@ 1400 for next five months. Find the rate
of simple interest annually.

Ush a5 & g T 9000 g1 afg 39 a%q ol

T 2200 & TE WA 37T 99 WHT &/ 30T

UTe WEiH @ ferw T 1400 @hi 9Ter |HTE HITES

frva & ®0 § Wam fear s gaar g, @
HTUT &TA ahl dTideh &% ATd ahi U]

(a) 10% (b) 11%

\(_g)/fZ% (d) 13%
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BY ADITYA RANJAN SIR

. An article is sold for ¥ 500 cash or
< 150 cash down payments followed
by 5 equal monthly installments. If
the rate of interest charged is 18%
per annum, calculate the monthly

Sd installment.
ST | +59 Ueh I @l T 500 T a1 T 150 g
:w WA & WO-Wg 5 sl fwval o
e ST 21 afg = 18% arfies 2T |
foran star & o wifaes farva framei?

(a) T63.07 (b) T 72.02
(c) Z75.06 Wn.os
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OMF MATHSEI: or all govt. ex: By ADITYA RANJAN SIR

7="1000 17. A man borrowed a sum of X 7000 from
'q = 84S0 A& bank at simple interest. After.3 years he
ST = [YSO paid ¥ 3000 to the bank and the end of

. 5 years he paid ¥ 5450 and clear all his

lq SO = M"‘ Y QE ![ Tx2 dues. Find the rate of interest.

3 Uh qldd o JYURUT a1 T & &
5P - T 7000 1 T A 3UR A 3 T G

ﬁﬂ(dy W?@aﬁ?wmﬂwldm G P |
IR 5 At F 3T F /S T 5450 T

Y:SY M AT AR 33U | gapr
JA P TF F AT <O &I A1
HIr|
(a) 4% (b) 6%
(c) 5% (d) 8%
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OMF MATHSEI: or all govt. ex: By ADITYA RANJAN SIR

P=156060 ft= 199 60 ST=Y4960 18. Ankit borrowed < 15,000 from bank
and returned X 6500 after 6 years.

(4%0:_ [S@ROXEXY + BSpox ¥ x Yy After 10 years from starting he
T Ieo- returned ¥ 13,460 and settle his

Aoy—
- 9 account. What was the rate of
007 +3upy ;

interest?
") %ID/ -Y HHd T 15,000 TAYRUT AT W

PECT dh ¥ IUR ol &1 6 AT a1 R

6,500 T&T T Tl YR’ H 10
ol e T 13,460 HT dor A
HFd & ST | &S & A B

(a) 4% (b) 3%
(c) 4.5% (d) 5%
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OMF MATHSEI: or all govt. ex: By ADITYA RANJAN SIR

P: 0000 ﬂ: 12220 Sle 3330 19. A man borrowed a sug of ¥.10,000 from bank
at S.l. After 2 years he paid ¥ 3,000 and at the
end of 5t year he paid ¥ 2,500 and at the end of

Q290 = 10006 X2 X+ TOBOXIXY + X'ZX'fth years, he paid ¥ 6,720 and clear all his dues.

T A

nd the rate of simple interest per annum.

1B %wwﬁahﬁ?w,ooo@rw AT A
JIYRUT &1 WX 3UR &dT &l 2 a9 & dg

ag ¥ 3,000 &7 WA HAT & AR Urad

ay & Fd # g% T 2500 & AT FAT &

A9 -y IR 7 a9 & 3T # a8 T 6,720 &1 1A
Sh— =)y = 1N HAT & AR HUAT FRT FHAT HACT I
QS Sar & aT Y TS & AT hITAT] 9

- (a) 43% (b) 4%%
(c) }( (d) 3%%
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